Lt=11496
1234 3300 2428 3300 1234
BERTER
-
2 — Moy - P EERR
3 " (B39 U= MET)
ROER BT it (kN/ i) 3t 1 (kN/mi)
30 50 100 30 50 100
i a-bl e [a'b[ e [a-b] e [a-b[ e [a-b[ e [a-b] e
2% 57 [1210] 300 [1120 300 | 940 | 300 | 630 [ 315 [ 530 | 265 [ 470 [ 235
BZE
Lt=11496

= 20 5128 5128 20
151.7

1

20:2541.9
24:2902.9

:H=2000
2355

20:H
24:H

20:1597.5

ol = = < = < = < M <

BIEROBE tRavy - b EREROSE

N
;
DOODODPDODDDD

fE R % RAEE I%2 B & |8 4| f#

' YIKIK
B Iz

% T EERE H—HR—F 7Y21—R F¥v7 & A B BLRE ap
B 60547 BBty - £8 51 51-4 L S eeats ® f5T-A1

&

\:ﬂ




